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QUESTION PAPER - 2019

Marks: 100 Time Allowed : 60 Minutes
Note
A. DO NOT write anything on this sheet. LLMW s o
B. Mark correct answer in Answer Sheet. -;fﬁulﬁ{.,.lzé‘u:)‘g}lz -
C. Correct way of Marking the Answer. Az -
If ( ¢ ) Is the correct answer. (@ (b @ (d) (e) _q_.,...lﬁé‘ (c]fl
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(a)
(d)

(a) Overlapping sets (b) Disjointsets (c) Zero sets (e) None of these
Au B=
- {x/xed ,; xe B} (b) {x/xe A \ XxeB} (c) {x/xe A ,y) x g B}
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Ul <==BuslAJANB=4 fi
erSip () endPE (o)
if ANB=¢ thenAandBare ____

Ll (d) 2] (e)

Equal sets (d)

{x/xgAd ,y xeB} (e)
AV B=___

None of these

{x/xeA and xe B} (b)

{x/xe A or xeB) (€) {x/xe A and x g B}

{x/xgd and xeB} (g None of these

(243

20 21 20 3 7
2 b} £l (c £ d = s
21 ( 20 ] 7 “@ 20 (B} 20
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Solve : 3 7
2w A 9 B @ 3 g 1
21 20 7 20 20
_tﬂd“ [ ;L.)Iw.ﬁ_gnq}.,;}'f 5.362_4L ¢ ;‘U"
637 ' . (b) 5.46 (c) 6.4 (d) 5.47 (e) 5.57
5.36 , after rounding off to nearest tenth will become
5.37 (b) 5.46 (c) 5.4 (d) 5.47 (e) 5.57
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(a) 18 (b) 8 (c) 12y (d) (5 (e) 2

-1
6: [%J +2' =
] 3
(a) 18 (b) 8 (c) (12) (d) (3)
: [al b!]l = 2 / 9

(a) a'b"? (b) a'h’ () a’b" (d) ap" (e) a-b®
7:  Simplfy: [@P)'=___
(a) a*b" (b) a’h’ (c) a’h" (d) ap"? (e) a'’h®
@'y +@°) = s
(a) 5403 (b) 4096 (c) 9640 (d) 9604 (e) 4085
g (4)Y+@)=
(a) 5403 (b) 4096 (c) 9640 (d) 9604 (e) 4085
L8 ik 6889 19
(a) 68 (b) 89 () _83  (d) 88 (e) 69

9: Find the square root of 6889.
(a) 68 (b) 89 (c) 83 (d) 88 (e) 69
AR By 196 IS E ALY, 0
@ X0 ) KM @ K12 ) K13 (o) K14
10:  What Is the length of the side of a square whose area Is 196m’

(a) 10m {b) 11m (c) 12m (d) 19m (e) 14m
At B VI VY Fe LTeM NP e 14
(a) 17 (b) 18 (c) 19 (d) 20 (e) 21
11:  Find the number which when subtracted from 7941, the answer Is a complete square ?
(a) 17 (b) 18 (c) 19 (d) 20 (e) 21

tnbaffetd Lute tipts 2 20 VI fle 8L Pl v 60S RSk L 112
(@ 4116 (b)) w100 (o) &1108  (d) &-290 (e) <110
12: A street hawker Is solling banana at Rs. 60 por dozon. A man wants to buy 20 bananas.
How much he will have to pay ?
(a) Rs, 116 (b) Rs. 100 (c) Rs. 108 (d) Rs, 80 (o) Rs. 10
L EEI DN TS DI pe sogibdl 13
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10:

(a)

(a)

11:

(a)

(a)
12:

-2 !:5'
-l— +2! = \
9
18 (b) 8 (c) (12)’ (d) 5y (e) 2
1\?
4 r—
4 3
18 (b) 8 (c) (12)’ (d) (5) e) 2
. [a*4')' = L{[/ﬁ 7
a!bll th} albﬁ tcl aﬂblz (d) alibll {E] allbﬁ
Simplify:  [a'8)' =
a'p" (b) b (c) &b (d) a'p (e) '
(@) +(4) = J” 8
5403 (b) 4096 (c) 9640 (d) 9604 (e) 4085

(44]! +(4I)J - i
5403 (b) 4096 (c) 9640 (d) 9604 (e) 4086
LB uik 6889 9

68 (b) 89 (c) 83 (d) 88 (e) 69
Find the square root of 6889.
68 (b) 89 (c) 83 (d) 88 (e) 69

8y 198 INNSY S SISELED, 10
10 (b) 21 (c) 12 (d) /13 (e) 14
What Is the length of the side of a square whose area Is 196m’

10m (b) 11m (c) 12m (d) 13m (e) 14 m
bl U e LTeM N g oo 14
17 (b) 18 (c) 19 (d) 20 (e) 21
Find the number which when subtracted from 7941, the answer Is a complete square ?
17 (b) 18 (c) 19 (d) 20 (e) 21

tnkosffatd Lutetipty 20 0T flet B ndey 0MAML L 12
41116 (b) 41100 (c) 41108 (d) 4180 (e) <110

A stroet hawker Is selling banana at Rs. 60 per dozen. A man wants to buy 20 bananas.

How much he will have to pay ?

(a)

(a)

Rs.,116 () Rs,100 (c) Re. 108  (d) Rs. 90 (8  Rs. 10
| | LA DS il DALY pe ¥ ool 13
POKAE () LEOKIE (o) MUK ) MIK4s (o) M3 )¢ 85



& 1‘3: A car moving with a speed of 90 km/hour. What will be its speed In metre per second (m/s)
(a) 16 mis (b) 36 mis (c) 25 mis (d) 45 m/s (e) ‘65mis
Lusesiyiin6:1 el uppds Nl 14
(@ 70 #20 (b) 150°,30° (o) 120°.060°  (d) 20° 4160° () 40° w50
14: On a line two supplementary angles are in the ralo of 6 : 1. The two angles willbe :__
@ 20&70 (b)) 150°&30° (o) 120°& 60" (d) 20°860° (e) 40°&50°
- e S L Skl /e 16

@ ot B B () i) () Lot (@
15: The distance covered iInm/s Is knownas _______
(a) Ratlo (b) Continued ratio (c) Speed (d) Distance (e) Time
A UAS 166 % —edw 470,0004 5 KL (16
(a) 433450 (b) 44,450 (c) &-uBB50  (d) &-wBBEE0 (o)  &-/77,660
16:  The price of a car Is Rs. 470,000 . How much GST will be levied on It If the rate of GST Is 16.5%.
(a) Rs.33450 (b) Rs.44450 (c) Rs.56650 (d) Rs.66660 (e) Rs.77,560
=S5x(xt+™ a 17
@ 5x*+10  (b) S5x*-10x" () -Sx'-10x (d) -5x'+10x' (3 / 0
17:  Simplify:  =5¥'(x’+2)
(a) Sx*+10 (b) S5x*-10x* () -5x'-10x* (d) _-5x'+10x* (e) +5x'+10x’
LS V' -y-20 g
(a) (x+4) (b) (x-4) (c) (x-4)(y+6) (d) (y+4)(y-5) (e) (x-4)(y-6)
18: Factorize: ¥' —y—20 |

(a) (x+4) (b) (x-4) (c) (x-4)(y+5) (d) (y+4)(y-56) (e) (x-4)(y-6)
(-2 )dx")=_ 119

(@ -8  (b) -6x°  (e) -8 (4) 6x* ) 7%’

19:  (=2x)dx")=

(a) -8x* (b) -6x° (c) -8x° (d) 6x? (e) 7x
e 6T 30z A iy ST AL S Bkl 120

(a) 18 (b) 11 (c) 13 (d) 12 (e) 14

20:  Think of a number , add 4, double the sum , the result Is 30, find the number.
(a) 15 (b) 11 (c) 13 (d) 12 (e) 14
Az nZ s x up ax 4180° YsfuptB g 21
(a) 90° (b) 80° (c) 60° (d) 40" (&) 20°




4 ¢

. 211 Two vertical angles measure 80° and 4x . How many degrees are there in ? \ o 5
(a) 90° (b) 80° (c) 60° (d) 40° (e) 20° =
Enyhsbe hie” 14 Uik skl 29

(a) (87 b) (88 (c) 89 (d) (90 (e) o1
22:  The radlus of a circle Is 14 cm .What will be the circumference of this circle.
(a) 87 cm (b) 88 cm (c) 89 cm (d) 80 cm (e) 81 cm

I { Ilf_i.fd" Ly 23

(a) 2rr+l (b) 2xr+1' () 2xr(l+r) (d) 277t {e) 27l
23:  The surface area of cylinder Is determined by:
(a) 2rr+l b) 22+’ () 2ar(l+r)  (q) 27r’l (e) 2nl
A OB YIS0l 24
(a) (161 (b) 111 (c) 133 (d) (164 (e) (120
24:  Find the area of circle whose dlameter is 14 cm.
(8 181 cem’ (b))  Micm  (¢) 133em’ (d) 154em? () 120 cm?
-2 90" L) JJ'L,B'I(J“ b"‘J,.JJJﬁa.I.f&‘[uI&ﬂHUukﬁu’ w;.;ffu —— 26
@ & o & @ F @ er
25: A quadrilateral having four congruent sides with no angle of 90° Is calle 4 / 9
(a) Square (b) Rhombus (c) Rectangle (d) Trlangle () Wuauinaweral
26: The angel Jibrell sald to the Hazrat Muhammad &. " Say
(a) Allah O Akbar (b) Bismillah  (c) Iqra (d) Al Hamd (e) Amin
27 Which of the following book has been by written by Allama Muhammad Iqbal?
(a) Hayat-e-Javed (b) Javed Nama (c) Khusboo  (d) Inkar (e) Ghobar e Khatir
28:  Bab-e- Khyber Is a monument at the entrance of the Khyber Pass in -
(a) Bannu (b)  Mardan (c) Kohat (d)  Noshera (o) Jumrud
29: Theword "forest" Is anexampleofa_____ noun.
(a) plural (b)  material (c) Masculine (d) neuter (e)  Feminine
30: Islam emerged as rellglous movement In ____
(a) 622 AD {b) 622 AD (c) 422 AD (d) 722 AD (e) 822 AD

31: Quald -e-Azam Is an example of a/ an ___ noun.

(a) common (b) proper (c) countable (d) uncountable (g) material
32:  What Is the example of a collective noun?

(a) marched (b) hill (c) army (d) tree (6  house

33:  Most of Igbal's work Is In
(a) Urdu (b)  Arable  (c) English  (d)  Punjfabl  (e) pgrgjan



' 34
(a)
36:
(a)
36:
(a)
ar:
(a)
38:
(a)
39:
(a)
40:
(a)
41:
(a)
42:
(a)
43:
(a)
44:
(a)
45:
(a)
46:
(a)
47:
(a)
48:
(a)
49:
(a)
50:
(a)

Find the meaning of " Humour ",
iy (b) wr (c) G (d) 78 (0 I

Hurrah , wow ,ah , etc are

Interjections (b) conjunctions (c) articles (d) preposlitions (e) verbs
lhurt______ ( Fill In the blank)
yourself (b) itself (c) herself (d) myself () themselves

Shazla gave Sadaf a doll . ( Identify Indirect object)

Shazla (b) gave (c) doll (d)  Sadaf (e) a
Wirite 3rd form of "be /Is ".
was (b) were () Is (d) be (e) been

Synonym of " knowledge " Is
teaching (b) school (¢) understanding (d) bullding (e) blackbaord

Identify part of speech " technology ".
verb (b) noun (c) adjective (d) Interjection (e) pronoun

Let's go for a walk the park.

from (b) for (c) with (d) above (e) to
Rashid Jumps _____ the water.
in (b) into (c) within (d) with (e) for
lam ____ than my bookshelf.
tall (b) taller {c) talling (d) tallest (e) talled

Sheis very clever girl. ( Identify adverb)
she (b) Is (c) very (d) clever (e) girl
____Is aword that modifies the meaning of an ad)ective,verb or other adv-
adverb  (b) conjunction (c) Interjection (d) adjective (¢ 5/ Q
A place where we borrow books Is

hospital (b) library (c) tuitlon centre (d) bakery {e) school
Subject of " them " Is
they (b) she (c) thelr (d) them (e) you
Opposite of " Majority " is
Major (b) poverty (c) liberty (d) minority (e) puberty
Hebrew means
fort (b) mosque (c) house (d) tomb (e) school
| gotoschool ____ bus. ( Put preposition)

In (b) on (c) by (d) into (o) Inslde
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